(PART 1) SUM—TO—PRODUCT FORMULAS

Notes

OBJECTIVES: 1) Use the sum-to-product/product-to-sum formulas to rewrite an expression.

-

THE SUM—TO-PRODPUCT/PRODUCT-TO—-SUM FORMULAS

sin(A + B) +sin(A-B) = 2sinAcosB cos(A +B)+cos(A - B) =2cosAcosB

sin(A+B)-sin(A-B)=2cosAsinB cos(A +B) - cos(A - B) =-2sinAsinB

*These formulas are proven in Part 8 of your Prove It Notes.

USING THE SUM TO PRODUCT FORMULAS l

1) Rewrite the product, sin468sin36, as a sum/difference.
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2) Rewrite the product, cos36cos58, as a sum/difference.
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3) Rewrite the product, cos268sin66, as a sum/difference.
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4) Rewrite the sum, cos116 + cos 36, as product.

Lse wg(A+&) 4 cos(A-B)= 2cocPcosB

(AB) +(n-B) =21 callo+ cos20 = Zwﬂ@us“@

( AB) — (A -B) =@

(\& + 36 = 2A e -30=2%
A=1e B=40

5) Rewrite the difference, sin86 —sin26, as a product.

wse sw\(A *3) - sxvx(f—\-B) = 2coc P sinB
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6) Find the exact value of cos5—”sin%.
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7) Find the exact value of sin105°sin°15.
ue

cos (A +B) —Cos (A~B) =-2smAsmB
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